SM5E4H1EMS

SH6E3HA3T1HET

NEHFEABILEARBEREELEFEL S (B i)
F A AMEES | IAEEERE |  EARE &5t
I — R IEBRBL EIRB O BB
1. BEEBEO
(1) 2 E IR AT
QEEJNE: 29,211,568 29,211,568
(N, BHHEEHRE) (5,940,000) (5,940,000)
Q=M=
FIEESE 980,000 980,000 1,960,000
i EFE 2,984,418 2,706,351 5,690,769
(A, REHRERE) (540,000) (540,000)
QFMAEE
ZWMA=E 120,000 120,000
@#IRAE
HEIR 2E 0 0
EEFIR 19 19
Z DA IR FR 66,400 66,400
BEUNAEET 33,175,986 0 3,872,770 37,048,756
(QBEER
DEEE
e 29,211,568 29,211,568
(H. EHEGAE) (5,940,000) (5,940,000)
EREHE 452,320 452,320
BRE 0 0
HHEREE 758,422 758,422
BExH 167,734 167,734
ZT D 73,609 73,609
1% B 3REN 350,000 350,000
REZEE 101,794 101,794
WIEE 169,228 169,228
HEEME 155,347 155,347
EHEE 0 0
ENRIE 49,280 49,280
HaammE 0 0
NFRAER 63,700 63,700
IKEHENE: 133,465 133,465
e 1,141,611 1,141,611
HEFH 2,839,152 2,839,152
BENFL 113,577 113577
EHELEE 92,889 92,889
EERNE 269,569 269,569
a8 SR R TS RN & 157,173 157,173




# H NS OE S S BN EE EA=ET =11
Q@EHE
fasss 347,421 347,421
HESH 71,885 71,885
ZDithEE 31,546 31,546
1% B $REN 150,000 150,000
R 3@ 43,626 43,626
mEE 72,526 72,526
HIEME 66,577 66,577
Bt E 0 0
FI1 il & 21,120 21,120
HElERE 0 0
NI RN S 27,300 27,300
AN 5= 104,333 104,333
KEHEE 57,198 57,198
={Ee 489,261 489,261
R F Y 1,216,779 1,216,779
BEF Y 48,675 48,675
EAELE 39,809 39,809
BRI E 115,529 115,529
ERE 129,360 129,360
BERER 10,010 10,010
AR B 20,140 20,140
ME 199,190 199,190
AT 100,000 100,000
i=ti=k 443,126 443,126
2 B E N 2 67,359 67,359
BEEHE 36,300,438 0 3,872,770 40,173,208
ST 452 S B A1 24 4B R 1 AR A 3,124,452 0 0 A 3,124,452
ST 18 2 S 5 0 0 0 0
LR E I EEE A 3,124,452 0 0 A 3,124,452
2. BENEROE
(1) IR
TEE MR 0 0 0 0
) BENER
RENERE 0 0 0 0
LR E SRR 0 0 0 0
L HA— B IE R BA EEBS RAE A 3,124,452 0 0 A 3,124,452
—CIERRBAEEES 6,139,279 0 269,551 6,408,830
— R IEBRBAEE AR A S 3,014,827 0 269,551 3,284,378
I 18 7€ IEBR B4 EE 1SR 0D &R
L HA TR E IE R BA EE IS R A 0 0 0 0
BEERMESERS 0 0 0 0
IREERMESHFRES 0 0 0 0
I IERRBAREHACR IR & 3,014,827 0 269,551 3,284,378




